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Masterkurs Produktion und Logistik 
Lösungsblatt 2 

Beispiel 1 
a) 

𝑞∗ =
2𝑘𝑑
ℎ

=
2 ∗ 5 ∗ 20 ∗ 5000

12 ∗ 0,15
= 745,36 

𝑇𝐶!"# =
𝑑 ∗ 𝑘
𝑞

+ 𝑑 ∗ 𝑐 +
ℎ ∗ 𝑞
2

=
5000 ∗ 5 ∗ 20

745
+ 5000 ∗ 12 +

12 ∗ 0,15 ∗ 745
2

= 61341,64094 

𝑇𝐶!"# =
𝑑 ∗ 𝑘
𝑞

+ 𝑑 ∗ 𝑐 +
ℎ ∗ 𝑞
2

=
5000 ∗ 5 ∗ 20

746
+ 5000 ∗ 12 +

12 ∗ 0,15 ∗ 746
2

= 61341,64129 

=> 𝑞∗ = 745  𝑏𝑧𝑤.    𝑇𝐶!∗ = 61341,64094 

b) 

𝐼! = 𝑡! ∗
𝑑

𝑡!"#$%&'&()$
= 14 ∗ 1,5 ∗

5000
250

= 420 

𝑇 =
𝑞∗

𝑑
=

745
5000

= 0,149  𝐽𝑎ℎ𝑟𝑒   ∗ 12 = 1,788  𝑀𝑜𝑛𝑎𝑡𝑒 

c) 
𝑇𝐶!! = 2 ∗ 𝑘 ∗ 𝑑! ∗ ℎ + 𝑐 ∗ 𝑑 = 2 ∗ 𝑘 ∗ 1,3 ∗ 𝑑 ∗ ℎ + 𝑐 ∗ 𝑑 = 1,3 ∗ 𝑇𝐶!∗ = 1,14 ∗ 𝑇𝐶!∗ 
𝐷𝑖𝑒  𝐺𝑒𝑠𝑎𝑚𝑡𝑘𝑜𝑠𝑡𝑒𝑛  𝑤ü𝑟𝑑𝑒𝑛  𝑠𝑖𝑐ℎ    𝑢𝑚  14%  𝑒𝑟ℎöℎ𝑒𝑛. 

Beispiel 2 

a) 

𝑞∗ =
ℎ + 𝑣
𝑣

∗
2𝑘𝑑
ℎ

=
10 + 50
50

∗
2 ∗ 200 ∗ 300

10
= 120 

𝑇𝐶!∗ =
𝑣

ℎ + 𝑣
∗ 2 ∗ 𝑘 ∗ 𝑑 ∗ ℎ + 𝑐 ∗ 𝑑 =

50
10 + 50

       2 ∗ 200 ∗ 300 ∗ 10 + 100 ∗ 300 = 31.100 

b) 

𝑠∗ =
ℎ ∗ 𝑞∗

ℎ + 𝑣
=
10 ∗ 120
10 + 50

= 20 

𝑆 =
𝑠!

2𝑞
=

20!

2 ∗ 120
= 1,67 

𝐼 =
(𝑞 − 𝑠)!

2𝑞
=
(120 − 20)!

2 ∗ 120
= 41,67 

c) 

ℎ + 𝑣
𝑣

> 1 => 𝑞!"!!"#$%#∗ > 𝑞!"#$%#&%∗  

0 <
𝑣

ℎ + 𝑣
< 1 => 𝑇𝐶!"!!"#$%# < 𝑇𝐶!"#$%#"% 
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Beispiel 3 

a) 

𝑚∗ =
2𝑘𝑑
ℎ

∗ 1 −
𝑑
𝑟
=> ℎ =

2𝑘𝑑
𝑚∗! ∗ 1 −

𝑑
𝑟
=
2 ∗ 15000 ∗ 576

40!
∗ 1 −

576
50 ∗ 12

= 432 

b) 

𝑞∗ =
2𝑘𝑑

ℎ ∗ (1 − 𝑑𝑟)
=

2 ∗ 15000 ∗ 576

432 ∗ (1 − 576
50 ∗ 12)

= 1000 

𝑇𝐶!∗ = (1 −
𝑑
𝑟
) ∗ 2𝑘𝑑ℎ + 𝑐 ∗ 𝑑 = (1 −

576
50 ∗ 12

) ∗ 2 ∗ 15000 ∗ 576 ∗ 432 = 17280 

𝐼 =
𝑞∗ ∗ (1 − 𝑑𝑟)

2
=
1000 ∗ (1 − 576

50 ∗ 12)
2

= 20 

𝑇! =
𝑞∗

𝑟
=

1000
50 ∗ 12

= 1,67 

𝑁!∗ =
𝑑
𝑞∗
=

576
1000

= 0,576 

c) 

0 < (1 −
𝑑
𝑟
) < 1 => 𝑞!"#$%&'(#)∗ > 𝑞!"#$%#&%∗    𝑏𝑧𝑤.        𝑚!"#$%&'(#)

∗ < 𝑞!"#$%#&%∗  

Beispiel 4 

a) 

𝑞! =
2𝑘𝑑
𝑝 ∗ 𝑐!

=
2 ∗ 500 ∗ 12 ∗ 2000

0,25 ∗ 250
= 619,68 

𝑇𝐶!"# = 𝑘 ∗
𝑑
𝑞!,!

+ 𝑐! ∗ 𝑑 + ℎ ∗
𝑞!,!
2

= 500 ∗
12 ∗ 2000

619
+ 250 ∗ 2000 ∗ 12 + 0,25 ∗ 250 ∗

619
2

= 6038729,86 

𝑇𝐶!"# = 𝑘 ∗
𝑑
𝑞!,!

+ 𝑐! ∗ 𝑑 + ℎ ∗
𝑞!,!
2

= 500 ∗
12 ∗ 2000

620
+ 250 ∗ 2000 ∗ 12 + 0,25 ∗ 250 ∗

620
2

= 6038729,84 

𝑞! =
2𝑘𝑑
𝑝 ∗ 𝑐!

=
2 ∗ 500 ∗ 12 ∗ 2000

0,25 ∗ 200
= 692,82 < 1000   => 1000 

𝑇𝐶!""" = 𝑘 ∗
𝑑
𝑞!,!

+ 𝑐! ∗ 𝑑 + ℎ ∗
𝑞!
2
= 500 ∗

12 ∗ 2000
1000

+ 200 ∗ 2000 ∗ 12 + 0,25 ∗ 200 ∗
1000
2

= 4837000 

𝑞! =
2𝑘𝑑
𝑝 ∗ 𝑐!

=
2 ∗ 500 ∗ 12 ∗ 2000

0,25 ∗ 190
= 710,82 < 12000   => 12000 

𝑇𝐶!"### = 𝑘 ∗
𝑑
𝑞!
+ 𝑐! ∗ 𝑑 + ℎ ∗

𝑞!
2
= 500 ∗

12 ∗ 2000
12000

+ 190 ∗ 2000 ∗ 12 + 0,25 ∗ 190 ∗
12000
2

= 4846000 

𝑇𝐶!""" < 𝑇𝐶!"### < 𝑇𝐶!"# => 𝑞∗ = 100  𝑏𝑧𝑤.𝑇𝐶∗ = 4837000 
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b) 
500 ∗ 12 ∗ 2000

𝑥
+ 190 ∗ 2000 ∗ 12 + 0,25 ∗ 190 ∗

𝑥
2
≤ 4837000 => 23,75𝑥! − 277000𝑥 + 12000000 ≤ 0 

𝑥! =
277000 + 277000! − 4 ∗ 23,75 ∗ 12000000

2 ∗ 23,75
= 11619,67 

𝑇𝐶!!"!# = 𝑘 ∗
𝑑
𝑞
+ 𝑐! ∗ 𝑑 + ℎ ∗

𝑞
2
= 500 ∗

12 ∗ 2000
11619

+ 190 ∗ 2000 ∗ 12 + 0,25 ∗ 190 ∗
11619
2

= 4836984 

𝑇𝐶!!"#$ = 𝑘 ∗
𝑑
𝑞
+ 𝑐! ∗ 𝑑 + ℎ ∗

𝑞
2
= 500 ∗

12 ∗ 2000
11620

+ 190 ∗ 2000 ∗ 12 + 0,25 ∗ 190 ∗
11620
2

= 4837008 

𝑇𝐶!!"!# < 𝑇𝐶!""" < 𝑇𝐶!!"#$ => 𝑇𝐶!!"!!"#$%"& = 11619 

𝑉𝑒𝑟ä𝑛𝑑𝑒𝑟𝑢𝑛𝑔 =
11619 − 12000

12000
= 0,03175 = 3,175% 


